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Vertex radial DOCA histograms




10*

Counts

10°

10?

Counts

10

10°

10?

Proton radial DOCA

Proton |/x2 + y2 for the 1’ region

ProtonX4Perp_EtaPrimeRegion

B Entries 363278
Mean 0.2635
Std Dev 0.158
él - J | - \ I - — ‘ - |
0 25 3 35 4. 5
X2 +y2 (cm)
Proton |/x2 + y2 for the 1’ region ___
ProtonX4Perp_EtaPrimeRegion
C Entries 277424
Mean 0.1328
= Std Dev 0.1351
EJII\}IL\I\\JII‘II\ hHh"HP.\m”AI‘”\"ﬂH\“}“II\I\\\Il‘”ll\\JI\II
0 0.5 1 1.5 2 25 3 35 4

4. 5
X2 + y? (cm)

Counts

Counts

10*

A

2

-
o

—_

10*

10°

Proton | x2 + y2 for the n' region

ProtonX4Perp_EtaPrimeRegion
| Entries 139120
E Mean 0.1814
Std Dev 0.1653
3 At ol
= OGSO SRR
0 1.5 2 25 3 3.5 4 4. 5
X2 +y2 (cm)
\ 2 2 ' i
PrOton X"+ y for the T] reglon ProtonX4Perp_EtaPrimeRegion
r Entries 161184
Mean 0.1092
Std Dev 0.1461

L
4

[N R

.. "

0.5 1 1.5 2 25 3

o

4. 5
X2 +y2 (cm)

e Top row: Data, Bottom row: MC, Left Column: nz* 7, Right Column: nz’z"




X2 +y2 (cm)

X2 +y2 (cm)

45

3.5

Proton radial DOCA vs proton momentum
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Vertex z-coordinate histograms




Proton and T z-vertex

Proton z-vertex - After the other cuts
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» Top: Data (from all the events), Bottom: Monte Carlo (1 only)




Proton z-vertex from the events that were/weren’t cut from the proton radial cut

Proton z-vertex, for the events that were cutinr Proton z-vertex, for the events that were NOT cutinr
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* Top: Data, Bottom: Monte Carlo

 Left: Proton z-vertex for the events that didn’t survive the proton radial DOCA cut, Right: Proton z-vertex for the events that
survived the proton radial DOCA cut




Standard vs Tight Selection Cuts

7' cross section (from nr'n)

' cross section (from nn’x0)
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- The tight Selection Cuts used to affect mostly the ™+~ final state (resolved)
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Standard vs Loose Selection Cuts

' cross section (from nr'r)
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* Left: n 7, Right: n7°7°, Top: o(E), Bottom: do /dt

- The loose Selection Cuts give (almost) the same results as the Standard Selection Cuts
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